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Function name Seqn| Address Length Type String

_indt_proec cinit| [5] LOAD:OOO= 0000001C & /1ib64/1d-1inux-x8-84, so. 2
sub_400460 .plt || [5) LOAD:00O~ 0000000A C  libe so.6
—puts -plt T LOAD 0= OOO00S c puts
_sirlen -plt| f§) LOAD:OGO- O00000CT strlen
___libc_start_main .plt|| %) LOAD 000~ 00000008 c seanf
_scanf .plt|| Fsl LOAD:000= 0000012 c __libe_start_main
f|__gmon_start__ plt.| [5] LOAD: 000~ 000000OF  C __Emon_start__
start < texy T LOAD 0edes (0000 c GLIBC 2.2.5
gub_4004F0 < Taxt ,_\- Srodatar- GMOOO00E c [WxyVE 0, 0, 2]
sub_$00570 ctext| 5] .rodata:= 00000011 C  [Trgut yeur flag
sub_ 400550 ctext) [5] . rodata:e 00000008 c COTTect
] nain] .text]| [s] .rodata:— 00000008 C wremg
it _text| [y . eh_fram= 0000000 c JHEERS
fini . TExt
_term_proc . fini
puts erte;
strlen exte;
_libc_start_main erte
gcanf exte)
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| _int64 _ fastcall main{__intéh a1, char

#%32 , char ==a3)

char vh; /7 [sp+Bh] [bp-5h]@1
signed int i; // [sp+Ch] [bp-3h]@3

puts(*[WxyUH 8.8.21");
puts{“input your flag:");
scanf("%s", &byte_694100);

vy = 1;

if ( strlen(&byte_6941080) ?= 25 )

v = B;

dword_694140 = -1677284711;
byte_694117 +=
byte 6941083 +=

dword_69417C
dword_694180
dword_694184
dword_694188
dword_69418C
duword_694190

-~

»

11;
31;

dword_694178;
dword_69417C;
dvord_694180;
dword_694184;
dword_694188;
duord_69418C;
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dword_694194
dwnrd A9L1RL

dword_694190;
dwnrd A9L1RA:

3
S

dword_6941E0 "= dword_6941DC;
byte_ 694162 "= 0xBu;
byte 694188 "= Bx5Eu;
byte 694111 += 69;
byte 6941089 += 7;
for ( i = 8; i <= 24;
{

if ( =(&byte 694188 + i) *= dword 694068[i] )

vh = @3

25021
25922
25823
25024
25825
25026
25027
25028
25029
2508389
25831
25832
25833
25034
25835
25836

++1 )

H

if ( vh )
puts({“correct");

else
puts{“wrong");

return BLL;
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1 ITiERd: 1 A

2 dword 694140 = -1677284711; 2 17 4= 11

3 3

4 byte 694117 += 11; 4 03 += 31

5 5

6 byte 694103 += 31; 6 05 += T8

T 7}

8 dword €9417C *= dword 6594178; 8 17 4= 109
9 9

10 dword 694180 “~= dword 69417C; 10 02 -= 25
11 11

12  dword 694184 “= dword 694180; 12 01 -= 48
13 13

14  dword 694188 “= dword 694184; 14 0B 4= 123
15 15

16 dword 69418C ~= dword 694188; 16 0D ~= 0x2é
17 17

18  dword 694190 ~= dword 69418c; 18 17 "= 0x539
16 19

20  dword 694194 “= dword 694190; 20  0C += 3

21 21

22 dword 6941B4 “= dword 6941B0; 3§ 0B -= 5
20 B

24  dword 6941B8 ~= dword 6941B4; Eg 00 4= 13
23 =

26  dword 6941BC *= dword 6941B8; Eg 04 ~= 0x48
27 =

28 dword 6941C0 “= dword 6941Bc; -8 03 -= 88

a

=[OxffffffCO,0xfff£££f85,0xfffEfEffF9,0x6C,0xfff£ffE2,0x14,0xfff££fBB,0xffffffed,0xd,0x59,0x1lc,0x23,0xf£££££88,0x
< | m | 3

f = open('key.txt") HTIERI LA HBNEER KR T

for b in f.readlines()[::-1]1:

if b[3]="+":

if'x'in b:

alint (b[:2],16)]1-= int(b[8:],16if'x"'in b elsell)

else:

alint (b[:2],16)]1-= int(b[6:]1,10)



if b[3]=='-":

if'x'in b:

alint (b[:2],16)]1+= int(b[8:]1,16)

else:

alint (b[:2],16)1+= int(b[6:]1,10)

if b[3]=""":

if'x'in b:

alint (b[:2],16)1%= int(b[8:]1,16)

else:

alint (b[:2],16)1%= int(b[6:]1,10)

flag =""

for i in a:

flag += chr(i%256)

print flag

flag: nctf{th3 vM_w1thOut_dAta}
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